
[image: image1.jpg]G) Calculate how much work would be done to lift all three boxes up to the ledge at the same time.

H) How does the amount of work done lifting the three boxes, one at a time, compare to the amount of
work done lifting the three boxes all at once? Explain why.

1) Would Julie generate more power lifting one box at a time to the ledge, or by lifting all three boxes at
the same time? Explain your answer.

A 975N car is traveling east at 25.0m/s. A 50.0N force is applied by the engine to the east for a distance of 225m
What i< the final velocity of the car? (Solve using the work-energy theorem! 5 steps.)




